
© Panduit Corp. 2018 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029PL

Page 1 of 2

WYR-GRID INTERSECTION BEND RADIUS CONTROL 
Part Number(s) : WG12IBRC2, WG12IBRC4, WG12IBRC6

WG12IBRC2**

WG12IBRC4**
WG12IBRC6**

(4) Truss Bolt Clips (4) 1/4-20 X 3/4”
Trilobular Screws

(3) M5 10mm 
Hex Head Bonding
Screws

(4) Truss Bolt 
Clips

(4) 1/4-20 X 3/4”
Trilobular Scews

(4) M5 10mm Hex Head
Bonding Screws

(4) 1/4-20 X 3/4”
Trilobular Screws

(4) M5 10mm Hex Head
Bonding Screws

(4) Truss Bolt
Clips

WG12IBRC2** Shown

OPTIONAL ACCESSORY 
               GACBJ6*U



© Panduit Corp. 2018 INSTALLATION INSTRUCTIONS V00029PL

Page 2 of 2

For Instructions in Local Languages 
and Technical Support:

www.panduit.com/resources/install_maintain.asp

E-mail:
techsupport@panduit.com 

Phone:
866-405-6654www.panduit.com 

Assemble Bend Radius Control To Wyr-Grid
•	 Assemble left and right hand Side of Bend Radius Control using (1) 5mm x 10m long Hex Head for WG12IBRC2**      
 or (2) 5mm x 10mm long Hex Head Screws for WG12IBRC4** & WG12IBRC6**
•	 Assemble Lower Bend Radius Support to Bend Radius Control using (2) 5mm x 10mm long Hex Head Screws
•	 Position Bend Radius Control on Wyr-Grid
•	 Secure Bend Radius Control to Wyr-Grid using (4) Truss Bolt Clips & (4) 1/4-20 X 3/4” Trilobular Screws    

1 2

3 3a

4

2” Bend Radius Control
Base Support

(4) Truss Bolt Clips

Tighten (4) 1/4-20 x 3/4” 
Trilobular Screws  
(Recommended torque
6+/-0.25 Ft-Lbs (8.1+/-0.3 N.m)

Bend Radius 
Control

Base Support

Tighten M5 x 0.8 10mm 
Hex Head Screws
(Recommended torque
2.26N.m, 20in-lbs)

Truss Bolt Clip cuts 
through paint and bonds
to Wyr-Grid

 4” and 6”
Bend Radius 
Control

Tighten 
(2) M5 x 0.8 10mm Hex Head Screws
(Recommended torque 2.26N.m, 20in-lbs)


